01 12 17

G )
1,708 | 1,705 0 0.17
H27 H29 H31
5km
L=5kn 0 60 100
Skm  5km 100
N=12 0 50 100
12 12 100
ot 0% 100%
11 100
1,019m2
A=1,019m2 ot 60% 100%
1,010m2 1,019m2 100
1,192n
L=1,192n ot 50 100%
1,192n 1,192n 100
ot 100% 100%




H27 H29 H31
7
750KVA 0% 0% 100%
1 1 100
8
@ 1,000mm N=2 0% 0% 100%
2 2 100
9
0% 60% 100%
3 3 100
10
0% 100% 100%
3 3 100
11
5 0% 50% 100%
5 5 100
12
0% 0% 100%
1 1 100
13 60
N=60 0% 0% 100%
60 60 =100%
14 31 100
N=2 0% 0% 100%
2 2 100
15
0% 0% 100%
1 1 100%
16
0% 0% 100%
2 2 =100%




H27 |He8 [H29 [H30 [H31

A07-001 " == 35
A07-002 u 15
A07-003 [ I B A B | 300
A07-004 u 12
A07-005 1,019m2 [ I B A B | 30
A07-006 u 10




H27 |He8 [H29 [H30 [H31

A07-007 1,192m [ B BN A B ] 160
A07-008 | B B 200
A07-009 [ ] 100
A07-010 3 1 | | | | 620
44,200
m3
A07-011 | B ] 20
A07-012 [ [ [ [ 80




H27 |He8 [H29 [H30 [H31
A07-013 . 8
A07-014 - 30
A07-015 . 50
A07-016 . 30
A07-017 . 5

1,705|




H27 |He8 [H29 [H30 [H31




H27 |He8 [H29 [H30 [H31

C07-001

|BCP

| BCP

BCP




H27 H28 H29 H30 H31
(€)) 137 164 188 138 147
(b) 0 0 0 0 0
(c=atb) 137 164 188 138 147
) 0 38 0 0 0
(e) 99 202 188 138 147
) 38 0 0 0 0
0 0 0 0 0
(h = c+d-e-f) 0 0 0 0 0
(1 = (gth)/(ctd)) 0 0 0 0 0
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